980180

980180

11.06.15 7 31.07.17

0717

1/10




Z

| 3x

‘\

A Q35
i |10x %M 2 X

D
111102 112 2xx/x 63007
D M6 x 10 KP8
27 |[12x 13x 12x =
353 018 $8 x 30 352 302 }
C Ei D8 3,5x 15 mm G1 /‘O - ;
"%, |10 10x Tx L =
11152 WﬁxﬁFbe 111 1xx B ﬁ;.; 0 f
g =
8 X 1 O X ({f(@.@ 2 X ﬂ 30 mm Ej
111 xxx 85 x 15 x Mk 111609 —
MS 14 L7 a8 ;
2 10x| | <5 [8x || & om =
1010 Mbx 1k 111 610 —
50 mm ;7
60 mm é

il

780x385x15

892x400x15

72x 382%x353x15

Lx L00x188x15

. . 0 . . . . : o
899x385x15 8994385x15  88Lx385x15 %
——— 2% 383x893x25 5 365x3L9x2,5
I O L00X126%15
Lx 351/334/351x100x12, &

Ix 351/334/35TxT5x12 4

980180 | 11.06.15 /7 31.07.17 |07 17

2/10




1

Q35
12 2xx/
T3
';%
12 616 v
%
111103
A
111102
D
018 98 x30

7

M610

M6 x 10

0717) 3/10

11.06.15 7 31.07.17

980180




980180

11.06.15 7 31.07.17

0717

4/10




>

)

>

Q>
N
N

b

980180 | 11.06.15 /7 26.08.16 0816 | 5/10




21120

SG 9
h i f
ik

111 1xx

980180 | 11.06.15/31.07.17 |0717| 6/10




RWP 883

122 ﬁ%%%%
J RWP 883
N
© i ©
Ml =g
7
14

N

980180

11.06.15 7 31.07.17 | 07171 7/10




ZLO

T—

3x 13 mm 621

980180

11.06.15 7 31.07.17

0717] 8/10




35x 15 mm 61

N o

<
121370 112 281

[ ]
Y
0

N 27

<
e

-
<
V"LQ\:

N27

21

% 3x13mm (321

12113

980180 | 11.06.15/31.07.17 |0717| 9/10




— , , S
WOI'BUNUO-XSWIMDH 3JIAJ3S I €€ 8658 10%50 (6%+) ' XB4 7L 8658 1050 (67+)13 1 -—
Auewsag /aypnyusliewsbioan z) 6y /107, 42644504 /HIWD S)3pueH JJodx3 fiodw| /4 1epaquyom X INIM W
UIWWouJagn bunyjeH 19]J3UI8Y UIPRYISYIES J3PO /pun hol
-U9UO0SIad 13q pJiM 3bejuoly J3YdSIUUBWYDRY JYdIU J3po /pun Jabigews411ydsIon ydiu 13g ~
i JOA SUN JIM UB}1BY3q'pUIS $3pInyasab J41aydsido4 uaydsiuyda} wap a1p usbunsspuy -
[
(=4
7
N
7
(=]
-—
m
~
L
-
D
o
=
(X7) OLE 12D
(=4
i (o2
¢ by
. o
Ve (o o]
(o))

=]

319PO0/18PON/113POW




23203 00y |-

Kunde MAX MUSTERMANN
. r

ustomer
Client

Kommission / your order reference / votre referen

3377 MINDE

S

w
=)
~
©

Dekor / Deco.

Decor / Modell / ModeéW/ Modele
SAMPLE
F99842  SCHNEBEFYRRENSCHAAMEZE0 Cll H 2160H

Paket WonX8 | ~i5

HSP-SWT_ BOD SOAFEXT/EEX SOCKE
50-BOD TE&XT RASTEX/FZWBOD D18MK

3 FRESH ™ 7 =
X KLSTA 104

IMEX Wohnbedarf
ort Export Handelsges mbH & Co. KG

T Ks-6a N
SOCKEL32 KLEB
SAMPLE 23.08.19

Modellname Produktionsdatum
Model Date of manufacture

\




9802183

/4

%7‘

—
VAR A

980218

05.01.11/ -

011 |1/6




0 A
A D ML x 9 mm GB g
e —
*1&2 L x - | 8x & 8x | e
111102 353018 ®8 x 30 111015 . =
% M6 x 10 '|'3 %
0 —
(/(7(7(;(;(;@ . L|- X 1 6 X 30 mm Ej
/@ ; —
11609 12 616 40 mm ;
C SP27 =3
L X 27 7mm . —
L|- X i, L|- X "=
111103 122620 190 - —
/ Z 11040 SBV
4 7 3IX Ly x
2N
63 007 '
;J @ 5mm
. j>®5mm
659x419x18

983x385x15 983%385x15 659x404x18

Ax\? @ - \\ )
| 636x2L0x15 u
@ 603x35Lx2,5
L x 1 e £

356/618/356x200x12, 4

992x635x2,5

980218 05.01.11/ - 011 |2/6




353 018 8 x 30

3/6

011

05.01.11/ -

980218




SP27
I Tmm

122620

980218

05.01.11/ -

011

L/6




980218 | 05.01.11/ -




M4 x 9 mm Ga 11

10

G8

9P JJEPaqUYOM-XIWIMEIOUL )R €€ 8658 10750 (6%+)"XRS L1/} 8698 L0%50 (6%+)13 L O
Auewsan /ajynyualiewsbiosy L6y /1071 4284450d /HIWY S1apuey jiodx] jJodw| /4Iepaquyom X IWIM ~
uswwouJaqn bunyjey 13143U13Y UIPRYISYIES J3PO /pun O
-U3u0sJad 13g pJim abejuoly Jaydsiuuewydey ydiu Japo /pun Jabigews {J1JydISIoA JUdIu |3g
| JOA SUN JIM U341eYaq'puls $3p1nyasab }41dyds}i04 usydsiuyda} wap 31p usbundspuy hay
—
S
[}
~
-
-
-—
<
wn
(=)
(X¥) CT B 0L 12D
O
-—
N
(=4
(o o)
o
b

919PON/19POW/119PO

()=




980306

980306

07.09.20 /




O
/
|
892x355x15 N
851x65x2,5

125x45x15

SP15
L X 15mm

10x

/o

w
<
3
3

L X1

121120

SP15

L X 15mm

121120

SP15

980306

07.09.20 /

09 20

2/3




SP15

L X 15mm

121120

Y

MII':: E—

_I‘r

LM
AN
)

09201 3/3

07.09.20 /

980306




	MA_980180_1707_kompl_DV.pdf
	MA 980218 kompl DV.pdf
	MA_980306_2009_kompl DV.pdf

